THEETE T =t
o! ,
HCHLES i

£l11 OIS iiP=

E AEIIEh)

- KIZIOIEN? -




LHS P2t AN

HCELES -||tgvg+

e i A @-reov et A e G e

KIZlo] 9

() XIEIORRI LIS S8t KIZHS0| 4974 10| SE2I SIS 2BIL




KIS 9ot Byl g -
° [
HEFLES |4

- . *
o LHZH (inner core]

\ ............. » @|H [outer core]

KIZlo| 2ig| |

KIZI0H CHol 207101 2:A XI-t LIRS &12™ XI-10] LHR= LHsH L

osH, ME 2111 XIZO= &I UL

i 4 3 “‘
) ¢ !
S Q d




LS fiet T =%*=
i

HCHLIS %

L

THISEHOIRIE RSHR AMSOZ OIF0HEI MS
QloH MS0IAM= ZIEI0| CHFEIS0] 201




LHYS 9ot WAl g e
o i
WCHLER 4%

CHEO| CHR &=0f| 2t Z2]0]= T
(140 2F 2~10cme| £)

A | ;—II—_Q"usi

DH L. = _Mantle r 4_ <-_ \ ﬁ —> —} -}
A 2 l
OHS 210 21O HEHY =l XIZ12 TS CHROI L2 E74R1V I of Lt

Kizlo g1z |

2L 1= SHH SZI0[Al =1L



LHUS 9ot BmsiAl
()
Q\ EI:I' LI'= '||’6"§
- \'

SOHH[Z|ZFE

3
it

SOzt

SN

b [

\ \ " J8E=s
“K *
RN

KIZ2 10~167HC] TOZ LI UM, XIEI2 == EH0| BH k=
TIO| ZAIGIIA] EHeHTHTL,




EPERRE T
o
HCFLES |At%

of & T3 nt

SHENYA R4
[Circum-Pacific belt]

Effos

=2| 1le|

Li=3}
[Ring of Firel

20| XIELdL g0l




THERTE T
(o)
HCFLES |4t

”
‘,, ot ¢ Ty}

ZHENEY 2ol .

[Circum-Pacific belt]

&b ‘ Efmo} ot

%

v

e

=2| 1le|

Ltx3t ot
[Ring of Firel

KIZ!19] 2F 80% OO0l O==2GHIM 2613 =0 122kl &2V 1=

-




LHYS I3t AT

HCE LIS F +
SLrF LR L'"’b ’gJ

o] B

[ Plate boundaries ]

 XIRlo| 8|
IO ZAIHIM= B0 M2 BERAIALE SN, TI7HXIEHA] X122 LHE el=

SEBICY




S st ’S-‘?—i‘oﬂ = =-%=-
HCEHLES : -||/g%|J

o] A

[ Plate boundaries ]

anwy ‘ - .
KIZlo| | Wi

Etd SHAIE B0A= =2, =&IE| 2lS AE0lH XIZ0] 2ot 2201
S0l 2211 E=2AH Eli=01 01301 HEZ XIEIOICE

XIz0

-

o]
=230 L&




=0l

k51

HH XI240] 28
Al 012201 HIZ XIZIOICE

0

-
[ S—

X1
=ClAl El

N 101

|53 S0l 22K

A

r
}



& -
iy B o
§uh Mgy

5 1. N
G

Zlo

XIZ40] EtI SHHIER LIOIA 27} ZME| SIS HISSHH KIZI0] OFsHEE0)
S74| THIISIT 0| ZIRHKID =S2[A1 S=HI 01201 HI2 XIZI0ICH

P



LHRIS 9ot RmaiM g -
(-]
HCELES 4%

£17 RmIZ B2
il H.EKF-_L”MEAE' Summary —
="
KIZIOIR?  KI7 LHSOH SZ36t KIZIHS0] 4471 HO| E52l= 31
X—IEQI 20
HHE O] 0| M2 =SR] -
[HEsiAoz > ESKALIZEN > sHEsoMz > AT
0| OIS 8lg =5 Slu=siHOE <o

—



